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Filet Fairy Right Handed Lesson 3

	Row 47: Working from left to right on graph. 

Attach thread to row 26 as indicated on the graph, ch 3.
3 blocks (10 dc), 7 meshes, 1 block (4 dc), 1 mesh, 2 blocks (7 dc), 2 meshes, 1 block (4 dc).

	Row 48: Working from right to left on graph. 

Ch 6 for 1 block increase, turn work.
1 block (4 dc), 2 meshes, 1 block (4 dc), 3 meshes, 1 block (4 dc), 7 meshes, 3 blocks (10 dc)

	Row 49: Working from left to right on graph. 

Ch 3, turn work.
1 block (4 dc), 1 mesh, 2 blocks (7 dc), 6 meshes, 1 block (4 dc), 4 meshes, 3 blocks (10 dc).

	Row 50: Working from right to left on graph. 

Ch 3, turn work.
2 blocks (7 dc), 4 meshes, 1 block (4 dc), 7 meshes, 3 blocks (10 dc).

	Row 51: Working from left to right on graph. 

Ch 3, turn work.
1 block (4 dc), 1 mesh, 2 blocks (7 dc), 6 meshes, 1 block (4 dc), 5 meshes, 1 block (4 dc).

	Row 52: Working from right to left on graph. 

Ch 6 for 1 block increase, turn work.
1 block (4 dc), 6 meshes, 1 block (4 dc), 5 meshes, 1 block (4 dc), 1 mesh, 2 blocks (7 dc).

	Row 53: Working from left to right on graph. 

Ch 3, turn work.
1 block (4 dc), 1 mesh, 1 block (4 dc), 1 mesh, 1 block (4 dc), 4 meshes, 2 blocks (7 dc), 5 meshes, 1 block (4 dc).

	Row 54: Working from right to left on graph. 

Ch 6 for 1 block increase, turn work.
1 block (4 dc), 5 meshes, 3 blocks (10 dc), 3 meshes, 1 block (4 dc), 2 meshes, 2 blocks (7 dc).

	Row 55: Working from left to right on graph. 

Ch 3, turn work.
3 blocks (10 dc), 2 meshes, 1 block (4 dc), 2 meshes, 1 block (4 dc), 1 mesh, 2 blocks (7 dc), 4 meshes, 1 block (4 dc).

	Row 56: Working from right to left on graph. 

Ch 3, turn work.
6 block (19 dc), 3 meshes, 2 blocks (7 dc), 2 meshes, 3 blocks (10 dc).

	Row 57: Working from left to right on graph. 

Ch 3, turn work.
3 blocks (10 dc), 3 meshes, 2 blocks (7 dc), 3 meshes, 1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 58: Working from right to left on graph. 

Ch 6 for 1 block increase, turn work.
1 block (4 dc), 2 meshes, 2 blocks (7 dc), 3 meshes, 2 blocks (7 dc), 3 meshes, 3 blocks (10 dc).

	Row 59: Working from left to right on graph. 

Sl st in 4 dc for 1 block decrease at beginning of row, ch 3.
3 blocks (10 dc), 3 meshes, 3 blocks (10 dc), 3 meshes, 1 block (4 dc), 1 mesh, 1 block (4 dc).

	Row 60: Working from right to left on graph. 

Ch 3, turn work.
2 blocks (7 dc), 3 meshes, 3 blocks (10 dc), 3 meshes, 3 blocks (10 dc).

	Row 61: Working from left to right on graph. 

Ch 3, turn work.
4 blocks (13 dc), 2 meshes, 4 blocks (13 dc), 3 meshes, 1 block (4 dc).

	Row 62: Working from right to left on graph. 

Ch 3, turn work.
1 block (4 dc), 2 meshes, 1 block (4 dc), 2 meshes, 1 block (4 dc), 2 meshes, 4 blocks (13 dc).

	Row 63: Working from left to right on graph. 

Sl st in 4 dc for 1 block decrease at beginning of row, ch 3.
2 blocks (7 dc), 1 mesh, 1 block (4 dc), 2 meshes, 1 block (4 dc), 2 meshes, 1 block (4 dc), 1 mesh, 1 block (4 dc).

	Row 64: Working from right to left on graph. 

Ch 3, turn work.
2 blocks (7 dc), 2 meshes, 1 block (4 dc), 1 mesh, 2 blocks (7 dc), 1 mesh, 1 block (4 dc).

	Row 65: Working from left to right on graph. 

Sl st in 4 dc for 1 block decrease at beginning of row ch 3.
6 blocks (19 dc), 2 meshes, 1 block (4 dc).

	Row 66: Working from right to left on graph. 

Ch 3, turn work.
1 block (4 dc), 1 mesh, 5 blocks (16 dc).

	Row 67: Working from left to right on graph. 

Sl st in 10 dc for 3 blocks decrease at beginning of row ch 3.
3 blocks (10 dc)   (Fasten off).

	Row 68: Working from right to left on graph. 

Attach thread to row 17 as indicated on graph, ch 3.
7 blocks (22 dc).  (Fasten off).

	Top half of fairy is completed





